Multiplying a Whole Number by a Power of Ten

Name: Class:

Solve the following problems.

13 x 100 = 25 x 10 =
13 x 10 = 25 x 1,000 =
13 x 1,000 = 25 x 100 =
30 x 10 = 17 x 1,000 = 29 x 100 =
42 x 100 = 18 x 100 = 51 x 1,000 =
51 x 1,000 = 33 x 10 = 29 x 10 =
16 x 10 = 56 x 1,000 = 30 x 100 =
39 x 100 = 61 x 100 = 50 x 10 =
99 x 1,000 = 71 x 10 = 52 x 1,000 =
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Answers

Solve the following problems.
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1,300 25
130 25
13,000 25
300 17
4,200 18
51,000 33
160 56
3,900 61
99,000 71
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X

10 = 250
1,000 = 25,000
100 = 2,500
1,000 = 17,000
100 = 1,800
10 = 330
1,000 = 56,000
100 = 6,100
10 = 710
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